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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Fal=n. 26,275,861 33,855, 158 AT,579,297
2 140,000
s 4,391,000
< 2,453,818
s 19,291,043
Ee J2EE 4 1,393,406 1,639,331 A 245,925
< 3,078
2 1,390,328
b2 HHl &2 1,393,406 1,639,331 A 245,925
= 3,078
s 1,390,328
AEHE 2Y Jl=ZHl 96,167 100, 188 A 4,021
201 2et24d] 83,067 87,088 24,021
01 At 22l 15,352 15,652 A 300
okzzad 2= M& 484,000& »23| 968
O&LAZRE 7¢ 200,000& x2& * 113 4,400
Ot e =& gl 8,000 x8H +36 2,304
O=Zz2FHld 2 H(ME HM=2d)
8,000& x12&+80 7,680
02 =224l 67,715 71,436 A3, 721
OL2FEEZ AN &&  2,130& %1802 *23] 767
OE2EHIE =240 B2 350, 0002 =44 1,400
OZZ2FHIE MRBA &HIIRS  300,000& 128 3,600
OC2HHl ZH SFH(IRLIALR) 25,488
-3 1,354& x2,8004 4CH 15,165
— R 1,496& x2,300£ =30H 10,323
OAEZEEI(24D1) Xt 5,000,000 =4CH 20,000
ORM&ZY SX2Ib(4EIIe 35)
130,000& »104CH 13,520
OYURA |2 60,0002 +x70Z Xl *70/100 2,940
202 044l 8,000 8,000 0
01 SLHOIYI 8,000 8,000 0
OH&dd PR 8,000,000& 8,000
203 &S =&l 1,500 1,500 0
03 AIHZ=XH 2 =AY 1,500 1,500 0
Ogzd g2 82 2 s892 4
1,500,000 1,500
305 a2 S 3,600 3,600 0
o1 Hia=s 3,600 3,600 0
OEXNAERZ X2 300,000& »12& 3,600
NS AL 912 3,420 0 3,420
< 3,078
e 342
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el

_ RE]
HY . o9 (BH) - MEANY - B %Eﬁ HR=2
101 @1 24| 3,420 0 3,420
== 3,078
= 342
04 JI12HA 3,420 0 3,420
ON= s el 85,500 x40 3,420
= 3,078
= 342
AEZ2L22 H=03 9,120 5,700 3,420
201 gEt24H Y| 9,120 5,700 3,420
03 Al A H| 9,120 5,700 3,420
Q32 (&= 4228 dsd3 9,120
— =22t 8,000 x80H 24! 1,280
— A2 98,000& »80H 7,840
C2AEYIY &K 10,400 3,200 7,200
303 ZAZ2 10,400 3,200 7,200
01 ZAZ 10,400 3,200 7,200
OEZHHIA H&X ASH 650,000& x16H 10,400
HNeEe Hes32g 114,550 114,550 0
206 M 2 dl 114,550 114,550 0
01 =4l 114,550 114,550 0
Aol sP 300,000& 130 39,000
A2 E 20,000¥ *6001L 12,000
OH&EEZE & 180,000 x 130 23,400
ON&EE 2 20, 100& =1,500m’ 30,150
OBadiz=0L 2002 *50, 0000H 10,000
A &H X= 130,959 58,800 72,159
201 gBt2A | 124,303 58,800 65,503
01 AP 2t 2| bl 124,303 58,800 65,503
OHM& 2| 4,900,000 x4 CH =300 & 58,800
OHM& &4l 65,503
— Ml & &4l 5,255,410€ =10CH 52,555
— M&Z&H 5& 6,473,580 «2[H 12,948
302 OI =L Mot &2 6,656 0 6,656
02 212+o1 TH ol P 6,656 0 6,656
Os,9 H 2FH|l 8,000& 1042 «8L 6,656
TEA HA S| 72,600 22,200 50,400
405 XHo&HF S HI 72,600 22,200 50,400
1 AL Z2E 72,600 22,200 50,400
ObLEE™ ZJ 2
36,300, 000& =204 72,600
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SN AL
Ha: WS HREY X4
el JtREY 2

= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
HEZH (ESEH) EEXA 10,400 10,400 0
301 getEd 3 10,400 10,400 0
12|24 = 10,400 10,400 0
OMEXEI(EHH)EE XA 100,000 *104CH 10,400
P 2l E2 S A 97,591 96,720 871
401 Al&HI & 28I 97,591 96,720 871
01 A& HI 96,720 96,720 0
OXNgE 2 25 I 210,000 *116kn*23] 48,720
OMgE==z 2 Dt 2 S
8,000,000 x6 S 48,000
03 Al =2 THHI 871 0 871
OXNgE & MYE=2 S2I| A
96,720,000& *0.90% 871
SZ2HEA® &X 52,000 52,000 0
401 Al Bl 28I 52,000 52,000 0
01 A& HI 52,000 52,000 0
OEZ20l122 &l 4,000,000 *130H & 52,000
MEOIR SAH 29 98,917 91,948 6,969
101 @124l 24,917 31,748 26,831
M4 JI2ZHZEXNSES 24,917 31,748 26,831
OZ2FHI| oAbl 24,917
—Jlegs 68,720 x1H »180 12,370
- =54 68,7203 x1H »36 ! 2,474
—522fE 103,080 » 12 35 3,608
— A2 2 12,8858 x1H«38AI 2++x93 4,407
—S8= 22,859,000 x9% 2,058
206 M= Hl 57,500 57,500 0
01 =8l 57,500 57,500 0
E=PAN 70,0003 *80IH x10& 56,000
OdtA 7 30,000& x50 1,500
401 Al I 28I 16,500 0 16,500
01 A& HI 16,500 0 16,500
OEZEHIA MRH 222 SAM
150,000& »110m" 16,500
I2s MREX € 200 2 533,582 479,845 53,737
201 £B-2dH| 21,500 21,500 0
02 3323l 21,500 21,500 0
OJzs AZMOH AAE sX 2l
50,000& »430S 21,500
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_ _ _ SHE|
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
206 2l 67,200 59,500 7,700
01 Mt 67,200 59,500 7,700
O Bots =M XM 22,500
—JteA 30,0002 *2007H 6,000
— Dt A 3tHt 35,0002 *300 M 10,500
—duo 1,200 *5,000m 6,000
O& XAl HE 149,000 *3007H 44,700
401 Al HI 2 200 444,882 398,845 46,037
01 Al&HI 441,692 396,300 45,392
OINRE |SNEBLBA 600,000 *100S 60,000
OJNRZE HEZA 12,0002 *1,408 = *23] 33,792
ORFZE NYZ II2S WHZ A
4,800,000 *545 259,200
OZF0I=2AY JI2E HAXZBA(RES) 2,200
—JtE0IS RS AXI(LEDS)
2,200,000 x1S 2,200
OF0=2AMY IH2E XA (REY) 12,000
—DZ0IS JI2S AXI(LEDS)
3,000,000 15 3,000
— 20i0t2 IR E &XI(LEDS)
3,000,000 x 15 3,000
—2E0S 2SS AXI(LEDS)
3,000,000 15 3,000
—SHOS 2SS AXI(LEDS)
3,000,0008 x 15 3,000
OF0U=2AMY RS HXZAH(HLH) 9,000
—0t¢0tS KRS AXI(LEDS)
3,000,0008 x1S 3,000
— AEDIS H2E &XI(LEDS)
3,000,0008 x1S 3,000
— =Z0IS RS A X (LEDS)
3,000,0008 x1S 3,000
OFQ=2MNY JI2RE A (HAH) 3,000
—HdUsg ¥ 2 &X(LEDE)
3,000,000 x 15 3,000
OZ=0=2AY JIIRE AX(BEH) 2,500
— 22 H2ES &XI(LEDS)
2,500,0002 x 1S 2,500
OFHAHE IHZE HXISAM(LEDS)
3,000,0008 x20= 60,000
03 A& 20 H 3,190 2,545 645
OJl2s B2 A 442,992,000 *0.72% 3,190
CERHH g 2 163,700 0 163,700
405 KHAHE S HI 163,700 0 163,700




EXN: A4
M. NS IIREAE XN
Ctl: JI2AHl 22 (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AL 2 ZF S| 163,700 0 163,700
OoxzEsxE2xs 2 163,700
—=273 8= 24,000,000 =104 24,000
—=201E HEH 29,700,000 = 1CH 29,700
—AJEZH 110,000, 000& = 1CH 110,000
SAIOHE 5,871,914 3,883, 184 1,988,730
= 140,000
g 424 000
= 24,000
= 5,283,914
SANAHEEZ 3,207,914 2,731,184 476,730
= 140,000
o= 12,000
= 3,055,914
TAHE 29 J|2&H| 91,404 94,284 A 2,880
201 et 9| 73,920 90, 300 A 16,380
01 AR 22l ] 16,550 30,050 A 13,500
OomZmgly A28 7Y 244 ,230.72 *263] 6,350
OZH2IHE S MEZ21DE
1,020,000 2l 2~ x53] 10,200
02 2224 H| 57,370 57,370 0
OZAHEEZHEAAE(UPIS) RREZS 36,130
—ATE?NH &L Q22
92,225,150 x12%*1 .1 12,174
—olE4AN 134,720,000 #8% 1.1 11,856
— GIS ¢l & 110,000,000 *10%*1. 1 12,100
OZAHEEZ JI2E MRS
10,300 *150S * 120 & 18,540
ONMHEAHI P AL AW HGAH|(H3IH|)
700,000 13| 700
OUstU=2AHLZAIE 2 F AHFIH|
2,000,000 13| 2,000
202 04d| 4,000 3,000 1,000
01 2Ll 4,000 3,000 1,000
OZAICIAQ 22X 4.,000,000& 4,000
305 a2 S 984 984 0
01 a2 S 984 984 0
ORYS=2 A8 EXAMNEE X2
82,000& ~12& 984
405 XH&HF S HI 12,500 0 12,500
01 AL E B F S| 12,500 0 12,500
OZAHEHEAAE(UPIS) AIAE WA 12,500
—EE AH 7,900,000 ~1CH 7,900
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T AR
R TAHEEZZ (e H)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
— 29 Hd M 0S 1,300,000 x1EA 1,300
— S/W O] &t 3,300,000 *1EA 3,300
A2 SAIJIZE EHAY 331,510 512,000 A 180,490
401 Al HI L 204 HI 331,510 512,000 A 180,490
01 Al&H| 329,350 508,400 A 179,050
OARE TAHEANE HH € B4
14,892, 000& 204 &~ 297,840
OREH AJIA =X Z2AF 230,000& *137m 31,510
03 AlE 20| 2,160 3,600 A 1,440
OA7E TAHEANE 4 ¥ B
300,000,000& *0.72/100 2,160
ANESHHA e 3UMA 40,000 610,000 A 570,000
= 12,000
= 28,000
401 AlEHIZ 2 0HY| 40,000 610,000 A 570,000
< 12,000
= 28,000
01 Al&H| 40,000 606, 157 AB66, 157
OANEHHADZ(ZAIXNY) HUEH 2
10,000,000 =44 2~ 40,000
< 12,000
= 28,000
SCAHEEZ HEAS 2,170,000 1,264,900 905, 100
= 140,000
= 2,030,000
401 Al HIZL 2 0HY| 2,170,000 1,264,900 905, 100
= 140,000
= 2,030,000
01 Al&H| 2,161,171 1,260, 346 900,825
OR=ZH =234 TAIHEZTZ HEZ2A
6,310,533 *600m*30% 1,135,896
OR=ZH ==23-3 TAIHETZ HEZ2A
7,452,750 *200m*50% 745,275
Ogatnx2 &XZ2A 280,000,000 *1JH A 280,000
= 140,000
= 140,000
03 AlEE2HH] 8,829 4,554 4,275
OREH =234 TAHETZ HEZ2A
1,140,000, 000 «0.36/100 4,104
OREH =Z23-3 TAHETZ HEZ2A
750,000,000 x0.63/100 4,725
SANEANE £X OIZEXN 200,000 200, 000 0
401 AlEHIZL £ 0HY| 200,000 200,000 0
01 Al gl 200,000 200,000 0
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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OZAHEAE X 022X HY
20,000,000& 10Z X 200,000
Q&EH =dZ 24 375,000 50,000 325,000
401 Al HI K 201 375,000 50,000 325,000
01 A& tI 372,300 50,000 322,300
OXNEAN SdZ =4 74,460,000 *10km*50% 372,300
03 A& =2 THHI 2,700 0 2,700
OXNEN =dl2 =& 375,000,000 0.72/100 2,700
A 2,664,000 1,152,000 1,512,000
s 424,000
< 12,000
s 2,228,000
01018 TAIHEAE FHI 900,000 0 900,000
401 AIEHI L 201 900,000 0 900,000
01 A& HI 900,000 0 900,000
OFII0IEY ZAHSAE 2R H
87,500& x8,000m’ 700,000
OR=z DIZHAIAAE SHHEZHH &
g3 2 FHHSY 1,000& 200,000’ 200,000
2 TANSE ZEAY 64,000 800,000 A736,000
< 12,000
[ia 52,000
401 Al HIZ 201 8] 40,000 800,000 A760,000
< 12,000
i 28,000
01 A& HI 40,000 794,960 AT754,960
OZANZSE W ZEEMZTAE=S &
20,000,000 «2J4 2 40,000
< 12,000
[ia 28,000
405 TtHabF S| 24,000 0 24,000
01 AL EFFHSHI 24,000 0 24,000
OR=IA(Z2E34) CCTV 7 &X
8,000,000 «304 & 24,000
AN+ XS ALY 1,700,000 300,000 1,400,000
s 424,000
s 1,276,000
401 Al HIZ 2018 1,700,000 300,000 1,400,000
s 424,000
s 1,276,000
01 A& HI 1,693,880 300,000 1,393,880
OBIC| #=wel BAE ZLAY
842 ,505% *4,654m %43 .2% 1,693,880
424,000




EXN: A4
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e NGRS (e H)
(o
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o 1,269,880
03 AlE 201 | 6,120 0 6,120
OULl B=trel BHE ZHAL
1,700,000,000& *0.36/10 6,120
s&E ASED|IB B 8,637,639 12,717,834 A 4,080,195
== 1,775,100
= 6,862,539
=AM AE DI BEAH| 947,501 5,750,040 N 4,802,539
== 514,000
= 433,501
SIIBHEHI ALY (2022 L JISE4E)(HEAY) 443,000 0 443,000
= 399,000
= 44,000
401 Al HI L 204 HI 443,000 0 443,000
o= 399,000
= 44,000
1 Al&H| 443,000 0 443,000
O &I HHIAE 443,000
— 2 g X3P 22,150,000& *20ha 443,000
o 399,000
= 44,000
SHZE MESStAHH (MEAY) 154,501 2,978,000 N2,823,499
401 Al HI L 2 0HHI 154,501 2,978,000 N 2,823,499
01 Al& H| 154,501 2,965,502 A2,811,001
O W (M QT GHaIE) X2 A
41,666,667 *40m*3)H**3.09% 154,501
MollFl =5 -2 HUAIY 230,000 0 230,000
& 115,000
o 115,000
401 Al HI L £ 0HHI 230,000 0 230,000
& 115,000
o 115,000
01 Al& H| 230,000 0 230,000
O MolFs =5 S22 EHAY
230,000,000 * 104 A 230,000
& 115,000
= 115,000
JlH S BEZ SEEAY 120,000 0 120,000
401 AlEHIZL £ 0HY| 120,000 0 120,000
01 Al&EH| 120,000 0 120,000
O JIAHS d&z SHEEAY
30,000,000 =44 2 120,000
SEE$ g 1,937,850 2,464,184 N526,334
& 1,095,500
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 842,350
ZCH SAN2(HE2EB L) 290,000 215,334 74,666
301 et A= 90,000 70,000 20,000
12 JIEtE2 A= 90,000 70,000 20,000
OS82 L Y+IHIE K&
39,682.5& *189J x12& 90,000
401 AlEHI 2L 201 Y| 200,000 145,334 54,666
01 Al&H| 200,000 145,334 54,666
OsS2y 2 ¥4+3 RAL
4.,000,000& 252 100,000
OM=X HY SX2elAtg
735,294 & x68 Il 2= %23 100,000
JBtxd 29 J248| 9,850 8,850 1,000
201 et | 5,850 5,850 0]
01 AP 2t 2| H| 1,350 1,350 0
OZglyH & 2EH 228 2¢
135,000& * 100 & 1,350
02 2%l 4,500 4,500 0
O2%==D| £=2ld| 30,000 *150CH 4,500
202 04| 4,000 3,000 1,000
01 2Ll 4,000 3,000 1,000
OsZEg 29 JI1=22&4| 4,000,000& 4,000
ZelAlE HE AL (MEAIY) 1,323,000 2,000,000 A 677,000
& 1,058,000
= 265,000
401 Al HI L £ 0HHI 1,323,000 2,000,000 A 677,000
& 1,058,000
= 265,000
01 Al& b 1,323,000 2,000,000 AB77,000
OZ2lANE WELAY 1,323,000
— 2CIAAE HEX(HE=R &L AT )
189,000,000 *7 4 & 1,323,000
= 1,058,000
= 265,000
sHE2 Aot A X ot S XA 240,000 240,000 0
401 Al HI L E0HHI 240,000 240,000 0]
01 Al&H| 240,000 240,000 0
O=g8 AUBE Xste HETA
8,000,000 3004 & 240,000
S5 S48 e 75,000 0 75,000
= 37,500
= 37,500
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M =& ASIIY HE
Sl ZE84 Y (29l & 2)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
401 AlEHIZL 2 0HY| 75,000 0 75,000
== 37,500
= 37,500
01 Al&H| 75,000 0 75,000
O JSFEHY S4ANEAY
25,000,000 *304 &~ 75,000
&< 37,500
= 37,500
sz 2 H2AE &= 5,752,288 4,488,410 1,263,878
= 165,600
= 5,586,688
Folmol JaAAMH(s2 L =2lAd) 5,545,288 4,224,410 1,320,878
401 A& HI L 204 HI 5,545,288 4,224,410 1,320,878
01 Al&H| 5,502,437 4,140,972 1,361,465
2= 659, 143
— S0l =S s2 &F2A
650,050 *35m 22,752
— FS0E2 28X A=F3AF 395,680& *70m 27,698
— QU0IE HUE S22 EXZ2A
118, 700& x200m 23,740
— OIEEHOIE 258 JHH EXZBA
989,200& *10m 9,892
— MZ0IS2 S s2 =2 EX2A
226, 100& *70m 15,827
— ANO0IS NE=E 2 =2 EXZ2A
222 ,570& *80m 17,806
— S50t 2= =2 EX2A
230,800& *30m 6,924
— XAMOIE XatE S22 WHEBA
241,800& *90m 21,762
— 2=2LI0e2 242 AE Y08 AXZ2A
79, 140& »200m 15,828
— FS0E s ZEZEAM 116,370& x170m 19,783
— QU0 HUE s2 0232 IMNRIZ2
At 98,920 *180m 17,806
- ¥F0IS NSYIB 52 THIA
118, 704& x250m 29,676
— 2F0IS H22d82 s EX2AM
,967,500& *4m 11,870
— 2UlIs HEE s2 Z &S A
118, 705& = 150m 17,806
— OIHEUOIE U2 s2 MEEZA
118, 710& »200m 23,742
— JIEEOIES 2L s2 Z 2 A}
395,680 *50m 19,784
— Mot MEZ2 =2 MEEZ2A
197,830& *»30m 5,935
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SE ASIIY 25
=2 o 22AM 25

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
— 28028 E2XNE s2 MEEZ2A
79, 136 & x500m 39,568
— MEOIS dxxd s2 =2 EX2A
217,620 *100m 21,762
— S0 24HM s2ZH A
435,240 *50m 21,762
— HIliZ2 2B 51 XS
3,561,200 *5m 17,806
~ BENZS DUN SREIBA
445,150 *20m 8,903
— GHoE 242 S22 2 242
At 1,978,400 = 10m 19,784
— S0 Y08 s Z2A
128,600& = 100m 12,860
— NT0IS ALE s2Z & ZA
148, 380& = 100m 14,838
— ANO0IE 22 s2 Y 12 EXZ2A
370,950 *80m 29,676
~ BENS NYE 52 ZETA
247,300 *40m 9,892
— ZMOIE Ml s2 Z & Z A
118, 700& »100m 11,870
~ SC0I2 43S SREFTA
346,220 *100m 34,622
— ZAOIE Y4t s2 el Y EXZ2AH
98,9202 *100m 9,892
~ TE0IE FE S2EIBA
118,700& = 100m 11,870
— =[S HI2Z2 s2EZ 2 A
158,500& *50m 7,925
— Z230Is 9 s EZ&Z2 AL 123,650 *80m 9,892
— MNEOIS Y s ZESAt
296,760 *100m 29,676
— HENZE Jiss s =2 EX2A
113,057 *x70m 7,914
— QN0IE SE 52 HEIBM
200,000 *150m 30,000
OfR=H 773,141
— EHE2 Y2 =2 A X Z2A
267,110 *80m 21,369
— 2 MUME 242 AXZ2A
407 ,365& *68m 27,701
— 0I30t2 AYZE s LA ZA
118,714& x105m 12,465
— HE0=S =2 EXZ2A
346,260& *110m 38,089
— SE-22s2 =2 Hix2 EXZ2A
302,610& *170m 51,444
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5 - 4
HH - B (3H) - KA - BYS 0l &t o il Bl RE2

22 &3E ? s2ZEZEEAM

197,867 & *30m 5,937
Hg SZ2EEIA 98,927 & x55m 5,441
AES OFEX & =2 AX3A

357,110& = 155m 55,353
=5 sti+=2 ZXSA 247 ,325& *40m 9,893
2= JI01Dl= Y2 ZFSAM

118,715% *180m 21,369
Z20ts 9 =2 ZX3A

263,815& x60m 15,829
2 sUHNHZ =2 EX3A

346,250& *20m 6,925
A LFMHZ =2 AXISA

247,330& x100m 24,733
SEd s X I A 118,720& *50m 5,936
Scl === A=3AM 296,791& *43m 12,763
FHOSIS FIE SZ2EHESAM

119,400& *145m 17,313
NsSOtS & th=2 X3 A

247,333 & *45m 11,130
23 g s22E3AM

119, 190& *83m 9,893
St 22 AXISAM 247,333 & *60m 14,840
StXl =nXel =2 AXI3SAt

257,220& *50m 12,861
QMAS == XS A 267,110 «80m 21,369
8 A2z =2 X3 A

329,764 & x60m 19,786
A LFUZ sZ2EZHI3A

122,210 *170m 20,776
ZE0ES § sTEHES A 118,720& «50m 5,936
DEOE s2ZFSAM 237,440& *25m 5,936
=== JtEd g ZXSA 79,1458 +110m 8,706
Ot=0tS B2 X SA

267,120& x100m 26,712
NSOES 9 sREZFSM

118,714& *140m 16,620
Xl FIE =2 ZX3AM

247,323 & =65m 16,076
QU HE SZEHSA 121,769& *65m 7,915
COt €52 S EZTZSA

118,714& »180m 21,369
oH FEE SZEESAE 131,911 #45m 5,936
StXI MOIJI SZ2EF S AL 141,325& +70m 9,893
£SO sti=Z2 3 A 483 ,665& *45m 21,765
SEg~Ats2t SZEEFS AL 118,720 *50m 5,936
SE0IE § AEBA 494,664 *30n 14,840
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A R =y
M =& ASIIY HE
S92 Y 22N =S CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
— XNsZ =2 &XI3A  296,790& »105m 31,163
— A& =2 ZX3A 247 ,320& *25m 6,183
— XA&0tES & a2 X3 A
247,330& x100m 24,733
— EtXI0tS et =2 AXIZA
285,777& x45m 12,860
- 4 B2 Ss2EYSAE 131,890& *150m 19,784
— 2S5 sti=2 ZHAg 282,628 & *35m 9,892
— NElts sZ2ZEZEF3A 121,320& *53m 6,430
— of==XclE & =2 EXISA
220,925 x120m 26,511
— E30t= =2 EXSA
247,300 x100m 24,730
O&gdd 784,436
— JI3 AES =2 EX3A
346,2253 *80m 27,698
— JI3 SN sZ2EFH3AL 296,760& *50m 14,838
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—EX0S N2EYE JIEAd Y EX3A
115,416& *60m 6,925
orgd 109,507
~ZE0S oL MER U 29 LIZA
480,218 *55m 26,412
—ot=20tS IH etz I SA
563,866& *30m 16,916
— A0S &2 A3 A 98,920 *50m 4,946
— A0S ot =2 BAL 474,8253 «80m 37,986
— Al A0S =2 EEIA 98,9423 x35m 3,463
—wWs0t2 =2 AXI3AF  164,866& *30m 4,946
— A0S =2 A3 AL 148,380 *100m 14,838
03 A& =2 THHI 15,669 11,286 4,383
ORFS AL FUHAXAAIG (orY T2
JAIE 2B (1424) 327,000,000& *1.079% 3,529
OREH AR FUHAXJA A (02 ', &
) N&=2UbI(1424) 215,000,000 *1.0786% 2,319
O&&H AR FOHAXAAG (2HY, X
) AN&=20b8l(1624) 302,000,000 *1.079% 3,259
OFMH AR FOUHAXAAG(HY, &Y
) NE=2Ub8I(721) 193,500,000% *1.07958% 2,089
OAHH AR2 F0HEHATIAAG (MY, IY
Z) NE=2UYI(1524) 304,000,000 *1.0789% 3,280
ORdYH ARS FoEHAXAAG(HY, &Y
) N&=2Ub8I(724) 110,700,000 %1.0776% 1,193
FOLEAANY CTHEZT (042, JYZR) 183,300 114,700 68,600
< 146,640
[ia 36,660
401 Al BIZ 2018 183,300 114,700 68,600
< 146,640
s 36,660
01 A& HI 183,300 114,700 68,600
OEx0t2 g2 & ot FHI3A
357,142 x70m 25,000
< 20,000
s 5,000
OAA0IES MAZ 022 MEHSA
75,000& *400m 30,000
< 24,000
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A R =y
= T2 AL 22
9l ZEOI& R ALY CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
o 6,000
ORS0tS =2 MEH & Jclolg £
375,000 *80m 30,000
< 24,000
i 6,000
Ogitots et 88 A X2 A 400,000 *25m 10,000
= 8,000
s 2,000
O&HI0S =2 &HHl 2 =2 & &X3
At 500,000& *56m 28,000
= 22,400
s 5,600
OO0kt LS ot A= X SA
333,333& *90m 30,000
< 24,000
[ia 6,000
OaZElS SEEXIA 303,000 »100m 30,300
< 24,240
e 6,060
OtM S & 2 2te| 120,000 120,000 0
CEROHEANEE (Ot d) &X 120,000 120,000 0
401 AIEHI L 2 CHEI 120,000 120,000 0
01 A& tI 120,000 120,000 0
OuSHMAIES(OIEHY) &x & B
100, 000 & *200m*6IH 2~ 120,000
=& sAzel 1,325,252 3,039,252 A 1,714,000
s 400,000
s 925,252
ANEGHME ne d3dotdE A 46,000 80,000 234,000
401 AIEHI L 20 46,000 80,000 234,000
01 A& HI 46,000 80,000 A 34,000
ONSHUY DY L HE ZLH
15,333,333.3& *30H & 46,000
NE (2, sHEZZ2)MES MY 794,000 1,763,000 A 969,000
401 A& HIZ 201 8] 794,000 1,763,000 A 969,000
01 A& HI 794,000 1,763,000 A 969,000
OWE B+ At 112,244.83 »196m 22,000
OF& W B3 A 336,842 x190m 64,000
ONEHL BEx=Z A 363, 157.8& x190m 69,000
O&d=1 E+ZA 165,094.3& *212m 35,000
OUEIR B+=Z At 131,578.9% «190m 25,000
o= ExZA 2,222,222 x36m 80,000
OfZw B & UWIEZZA
3,825,000 *40m 153,000
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A R =y
= T2 AL 22
¢ 2= |2l (=& J)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Oe¢t=mw B & HWaEZ3AM
2,900,000 *40m 116,000
OJdIZsn E+3A 2,066,666.62 *75m 155,000
ORCDY WASSHI 2 HANASY
15,000,000 *5J4 2 75,000
TERANES 85,252 96,252 211,000
201 L2l 85,252 96,252 A 11,000
02 23224l 85,252 96,252 A 11,000
Oz&kbad =clMEHE dI| & S
1,200,000 1201 & 14,400
Oz&k11ad EX4HEHE &I € S4R=s
3,750,000& 1201 & 45,000
OZ2&208d =3MEHE &I
750,000& 1200 & 9,000
OZETHYE (3MA) &It =52
1,142,000 1201 & 13,704
OGX~&AH2EZ CCTV SN2+
95,370,000 x3.3% 3,148
HEIXI7 REEZ dSHSAL 400,000 1,100,000 A700,000
s 400,000
401 A& HIZ 201 Y| 400,000 1,100,000 A700,000
s 400,000
01 A& HI 397,120 1,096, 040 A 698,920
PFS-2HYH IS Z2MEAL (HEIRE S
2227) 3,529,412 «850m*13.2373% 397,120
s 397,120
03 Al 2 THHI 2,880 3,960 A1,080
PFS-2LYH I Z2MEAL (HEIRE S
2227) 400,000,000& *0.72% 2,880
as 2,880
T AE ALY 1,565,100 2,975,100 A 1,410,000
S 36,000
s 1,529,100
T AE 2Y Jl=d 5,100 5,100 0
201 €2l 2,100 2,100 0
01 At 22l 2,100 2,100 0
OYRFEE HA 222 2 2,100
—EUHI2IEX 250,000& *3H 750
— EgItECX 450,000& =34 1,350
202 O4dl 3,000 3,000 0
01 = LH o4 HI 3,000 3,000 0
OzZEAE 29 Jl=38l 3,000,000& 3,000
=zt ¥ sHEE=Z A 1,440,000 2,850,000 A 1,410,000
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= T2 AL 22
ol ZEAEAMS (&)
SA - BB B () - MM - BES Ol &t o San HmEET
401 Al HIZ 201 Y| 1,440,000 2,850,000 A 1,410,000
01 A& HI 1,433,232 2,840,685 A 1,407,453
O2d0I28 Y2 W22 IS AF
75,9203 x1,700m 129,064
OADIOIE Y2 W22 IS A
168, 776& *2,000m 337,552
OAROI2 XY W22 I B A
148,920& *1,400m 208,488
OER0I2 T2 W22 IS A
215,106.6& *1,200m 258,128
Ozt & sHEZZ MEHSA
100, 000& *2,000m 200,000
Ozt ¥ =0HEEZZ YSsSE2 EXI3SAM
100,000& = 1,000m 100,000
Ozt & sHEEZ 2227
200,000& =1,000m 200,000
03 Al 2 THHI 6,768 9,315 N2,547
O2d0t2 T2 W22 IS AF
130,000, 000& *0.72% 936
OADIOIE Y2 W22 IS A
340,000,000& *0.72% 2,448
OAROIE T2 W22 IS A
210,000,000& *0.72% 1,512
OER0I2 M2 W22 IS A
260,000,000& *0.72% 1,872
25 ¥ sHEEZZ AE(BEX) 120,000 120,000 0
< 36,000
s 84,000
401 AIEHI L 20 120,000 120,000 0
< 36,000
s 84,000
01 A& Hl 120,000 120,000 0
O=& SAUXAIE X 3A 480,000 *x250m 120,000
< 36,000
e 84,000
ANEX& 6,290 1,030,029 A 1,023,739
ANE X 6,290 1,030,029 A 1,023,739
AMEXE 29 J1234l 6,290 7,190 A 900
201 £B-2dH| 4,290 2,690 1,600
01 At 22l 4,290 2,690 1,600
OZgly 228 ¢ 250,000 x53| 1,250
OMEES ¥ 120,000& 1228 1,440
o=l 8,000& x2H 100 1,600
202 oddl 2,000 2,000 0
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ol A& (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 = LH 4 bl 2,000 2,000 0
OAMEXALEFA 2,000,000& 2,000
HY2AZH (AL D) 26,880 25,920 960
Jl23tl 26,880 25,920 960
2AHd J1=2ZH| 26,880 25,920 960
201 L2l 10,080 9,660 420
01 At 2t 2l 10,080 9,660 420
OJlege=a 35,0003 x24H x12& 10,080
202 oddl 11,520 11,040 480
01 = LH o4 1l 11,520 11,040 480
OJlggexd 11,520,000& 11,520
203 PR =&l 5,280 5,220 60
04 EANSIHRF=EHI 5,280 5,220 60
O&FA 302! olat 400,000 x12& 4,800
O&FA 312 =1t 40,0003 123 480
Heas(H&D) 40,000 20,000 20,000
HEAHH K= 40,000 20,000 20,000
SABVFHIIIS HEES 40,000 20,000 20,000
702 )I3HEES 40,000 20,000 20,000
0MII3dE3 40,000 20,000 20,000
22 0FHII=s 883 40,000,000& 40,000
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